HENERS

ceramic heaters
28.5x330mm

<

ceramic heaters

%
= Y
-3
power voltage L power voltage L
No. Part No. W) ) cable (mm) No. Part No. ) cable (mm)
1 415307 250 230 beaded cord 330 2 415125 400 230 beaded cord 330
212x245mm
g
""xﬁ
.
power voltage L power voltage L
No. Part No. W) ) cable (mm) No. Part No. ) cable (mm)
1 415304 250 230 beaded cord 245 2 415305 400 230 beaded cord 245
125x60mm
-
power voltage L B H power voltage L B H
No. Part No. w) ) (mm) (mm) (mm) No. Part No. cable (mm) (mm) (mm)
1 415105 125 230 beaded cord 125 60 35 4 418404 400 230 beaded cord 125 60 35
2 415106 200 230 beaded cord 125 60 35 5 415108 500 230 beaded cord 125 60 35
3 415107 325 230 beaded cord 125 60 35
245x60mm
power voltage L B H power voltage L B H
No. Part No. w) W) (mm) (mm) (mm) No. Part No. cable (mm) (mm) (mm)
1 415101 250 230 beaded cord 245 60 35 4 415103 650 230 beaded cord 245 60 35
2 415102 400 230 beaded cord 245 60 35 5 418403 800 230 beaded cord 245 60 35
3 418402 500 230 beaded cord 245 60 35 6 415104 1000 230 beaded cord 245 60 35

502




coffee machine heating Heating elements

accessories

N

<2

1 2 3 4 5
No. Part No. Description
1 560020 | carriage bolts M5 L 30mm head g 13mm A/F 5, Qty 10 pieces
2 415109 | clamp spring
3 560023 | distance washers L 13mm aluminium int. @ 5mm, Qty 10 pieces
4 415111 | reflector L 125mm W 95mm H 30mm thickness 0.8mm
5 415110 | reflector L 245mm W 95mm H 31mm thickness 0.75mm

coffee machine heating elements

2 hole fixing
: o
&
I 5]
:.— . .
H &
i B
- L -
No. Part No. p(()\)\ov/)er vo(l\t/z;ge (mLm) (mBm) (mHm) (mg) tzg;? TS windings suitable for equiv. no.
1 417126 1300 230 215 39 21 31 8.5 Yat 2 Marzocco -
2 417307 2200 230 157 38 37 40 6.5 M14x1.5 4 Animo 03184
Coffee Queen 160110
3 417443 3000 230 280 30 60 52 8.5 M14x1.5 3 Crem Int. 160110
o é
- ‘I
B B2
! — a1
[ IS
E-.— e 3 e ] -
e ™
H 1 .
I B
s L -
power voltage L B H L3 B2 . .
No. Part No. w) ) (mm) (mm) (mm) (mm) (mm) TS suitable for equiv. no.
1 417308 3000 230 180 62 47 138 48 M14x1.5 Animo 03198
I = . X
7 o
Bl B2
NS S ]
o
4
H B
- L -
power voltage L B H L3 B2 . .
No. Part No. W) ) (mm) (mm) (mm) (mm) (mm) TS suitable for equiv. no.
Bremer -
1 415440 3300 220 255 67 20 210 33 M12x1 Palux 372749

503



i =
i = - L =
1
H
s =
- L2 e L] =
power voltage L B H MD . .
No. Part No. V) (mm) (mm) (mm) (mm) IS suitable for equiv. no.
Bremer -
1 415436 1600 220 240 33 30 25 M12x1 Eloma R0285
Palux 381268
Eloma R0296
2 415439 2000 230 342 33 26 25 M12x1 Palux 378577
3 415437 3000 220 350 33 32 25 M12x1 Palux 017299
(] =
B k
= =
- L -
J rI1
&
- L3 =LIL1=
power voltage L B H MD ! P
No. Part No. W) (mm) (mm) (mm) (mm) TS suitable for equiv. no.
Bremer -
1 415438 4000 220 430 30 37 22 M12x1 Eloma R0295
Palux 187003
-
A
H1 1
1 H
H2
L] L
-0
power voltage ] H Bl H2 MD : " .
No. Part No. W) (mm) (mm) (mm) (mm) (mm) TS material suitable for equiv. no.
1 417175 800 220 50 41 38 22 32 Ya* stainless steel Elektra 01192035
2 417115 850 230 65 44 37 21 23 Ya stainless steel Faema -
3 417453 1000 220 55 62 44 30 40 M10x1 stainless steel N&W 098645
4 417113 1000 230 57 59 50 30 44 M12x1.25 stainless steel Faema -
5 417114 1000 230 57 60 38 31 32 Ya* stainless steel Faema -
6 417035 1200 230 55 66 55 36 42 i copper Brasilia 00625.2.00.08
7 417132 1200 230 88 42 70 22 62 Y copper Nuova Simonelli 14100008
8 417189 1800 230 57 83 42 52 36 M10x1 stainless steel Brasilia 10246.2.00.08

504




coffee machine heating

Heating elements

[
] - F] -

[ ”- ” L]

H1
H

.

H2

v L]

power voltage ) H Bl H2 MD : . .

No. Part No. W) (mm) (mm) (mm) (mm) (mm) s material suitable for equiv. no.
1 417180 1700 230 105 190 85 50 76 Vi copper Rancilio 33122017
2 417327 1710 240 108 255 126 68 120 M14x1.5 stainless steel Bonamat 6.000.256.083
3 417038 2700 230 133 203 70 38 40 3/8" copper La Spaziale -

4 417169 3000 230 111 280 111 105 66 Ya* stainless steel Bezzera 5722212
5 417328 3000 240 110 248 138 73 132 M14x1.5 stainless steel Bonamat 6.000.256.030
6 417314 3200 230 - - - - - - stainless steel Animo 03204

i L
B g
L] ™ <1
| e L1 "
; 8 8ot
£ . H
i
power voltage L B H L1 L2 " .
No. Part No. ) (mm) (mm) (mm) (mm) (mm) IS suitable for equiv. no.
1 417313 1500 230 123 111 22 46 7 M14x1.5 Animo 03100
B ii
H1
AB 1y
z{‘:’: 7| .
T
e L3 R [
- L .

No. Part No. ol voltage (mLm) (mHm) (nl;Sm) (r’ﬂra) TS suitable for equiv. no.
1 417027 1250 220 298 70 205 25 M10x1 San Marco -

2 417142 1850 230 525 62 440 25 M10x1 San Marco -

T =
B 3
T =
s = ]
e H
"
- [ F Rl L
power voltage L B H L3 MD . .

No. Part No. ) (mm) (mm) (mm) (mm) (mm) TS suitable for equiv. no.

1 417026 1000 230 205 50 18 140 28 M10x1 San Marco -

505




coffee machine heating

Heating elements
2 hole flange 58mm

T
H
k. .
—
B -
i SHmim
- L -
power voltage L B H LTS TS o . .
No. Part No. ) HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417185 2000 230 1 183 28 38 145 5 San Marco 108414
2 417029 3000 230 2 325 33 28 125 5 San Marco 108350
3 417186 4500 230 3 355 39 39 - - San Marco 108351
2 hole flange 74mm
v
H
i amm
[ e .-I-"
B - a
i ramm
- L -
1
power voltage L B H . .
No. Part No. W) ) HC (mm) (mm) (mm) suitable for equiv. no.
1 | 417090 1450 230 1 132 36 40 Astoria i
Wega -
i L
H1
tll'll ; A3mm
L e - L
. oy
B ks -
N F4mm
L. L -
power voltage L B H L3 TS o LTS . .
No. Part No. ) HC (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417002 1500 230 2 140 25 58 70 - - Faema -
Faema -
Futurmat -
2 417116 1800 230 1 240 36 44 173 6 205 Italcrem -
Mairali -
Visacrem -
3 417074 1800 230 2 235 33 33 170 - - VFA Express -
4 417003 1800 230 2 250 28 66 180 - - Faema -
Astoria 17006
5 417043 1800 230 3 175 35 30 115 - - CMA 17006
Wega W10451
Astoria 17002
6 417039 2000 230 2 185 30 45 87 - - CMA 17002
417174 2000 230 3 152 35 58 58 4 150 Elektra 01195035
8 417215 2500 230 3 150 31 57 50 5 135 Elektra 01197035
Astoria 17051
9 417107 2600 230 2 295 36 41 235 6 186 Wega W10454
Astoria 17051
10 | 417040 2600 230 2 300 26 37 205 - - CMA 17051
Wega WY17051
Faema 3541133003
11 | 417001 2600 230 2 330 30 52 255 7 210 Futurmat 02212439
Italcrem 02212439
12 | 417008 2600 230 2 360 26 155 260 - - Futurmat -
13 | 417042 2600 230 3 320 31 45 227 - - Wega W10456
14 | 417154 2700 230 3 185 32 50 129 - - Wega -

506




cofféee machine neating Heating elements

L
i
H1 L
e = Aamm,
= L3 ==l el by
. AL
? bt T = “ramm
L. L -
power voltage L B H L3 TS o LTS . .
No. Part No. w) ) HC (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
15 | 415193 3000 230 3 310 35 43 230 - - OEM EEO003
Elektra 00127035
16 | 417155 3000 230 3 315 32 45 220 - - Wega W05152
17 | 417233 3000 230/400 3 315 30 45 225 6 150 CMA 17058
18 | 417000 3400 230 3 305 35 38 205 6 155 Wega WY17059
Astoria 17054
19 | 417087 3400 230 3 332 39 48 267 - - CMA 17054
20 | 417108 3500 230 2 370 30 50 275 7 210 Faema -
Faema 3541133004
Futurmat 02212538
21 | 417109 3700 230 2 445 26 54 367 7 208 Mairali 02212538
Visacrem 02212538
22 | 417156 3700 230 2 565 32 40 470 - - Wega W10461
23 | 417187 3700 230 2 570 38 48 485 - - Futurmat F.13
Astoria 17101
24 | 417064 3700 230 2 575 34 47 510 6.5 205 CMA 17101
Astoria 17104
25 | 417088 3700 230 3 570 35 46 485 - - CMA 17104
26 | 417202 4000 230 3 290 34 63 190 6.5 199 Faema 2841135092
27 | 415194 4500 230 3 318 32 44 235 - - OEM EEO005
28 | 417112 4500 230 3 390 35 70 300 6.5 200 Faema )
Wega -
Faema 3581130091
Futurmat 02212637
29 | 417110 5000 230 2 525 26 45 420 7 210 Gaggia 02212637
Visacrem 02212637
30 | 417157 5000 230 3 478 38 55 420 - - Wega W10466
H |k
H 3§
1Ha — R
e R T e
1 i P4 |
8 . b “um
- |_ -
ower voltage L B H L3 thermostat ; -
No. Part No. p(W) (Wg HC (mm) (mm) (mm) (mm) e suitable for equiv. no.
1 417004 2400 230 2 155 27 58 90 M10x1 Faema 3541116635
2 417103 2600 230 2 360 26 49 264 M10x1 Faema -
Faema 3541133004
3 417104 3700 230 2 367 27 49 280 M10x1 Futurmat 02212538
4 417106 5000 230 2 566 28 75 380 M10x1 Faema -

507



—
N

Heating elements

Heating elements/cofiee machine heating

ELECTRICAL

I i p— |
P
LW = A2mm
== L2 L= @
=l g
LI —
L [ S— . FE
i 'y
- L -
power voltage L B H L3 . P
No. Part No. W) ) HC (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417117 3700 230 1 570 35 153 460 Futurmat F.1157
2 hole flange
[ B o
- L (—, o
L " . ebmm
1
power voltage L B . .
No. Part No. W) ) HC (mm) (mm) suitable for equiv. no.
1 417034 1400 230 1 228 45 Brasilia 05430.0.00.04
[ |
H 2
&
ﬂ B2 T
x B eamm
T |[=
- L -
power voltage L B H L3 A 2
No. Part No. w) ) HC (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417033 3200 230 2 415 44 25 330 Brasilia 04995
2 417086 4200 230 2 535 44 23 465 Brasilia 04996

508




coffee machine heating Heating elements

3 hole flange 230mm

T
H " a
i
=—|3—e==l2=LT= ] E
v ~ 4
? - -
L L -
power voltage L B H L3 . .
No. Part No. W) ) HC (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417017 750 230 1 130 235 38 70 Gaggia -
2 417018 1250 230 1 315 24 32 225 Gaggia -
3 417118 1750 230 1 525 25 40 440 Gaggia -
3 hole flange g40mm
T
H |
' i 1 A0
= B (C | St
i - -
L i s2mm
power voltage L B H . .
No. Part No. W) W) HC (mm) (mm) (mm) suitable for equiv. no.
1 417071 1000 230 2 150 40 26 Marcfi-Ancas -
2 417072 3000 230 2 355 36 25 Marcfi-Ancas -
3 417073 3000 400 2 339 37 26 Marcfi-Ancas -
L
LH1
Hiz (T 7 atrmm
P =
" - L =L1=
T - sl
5: | 4| =SEmme
- L -
1
power voltage L B H L2 . .
No. Part No. W) ) HC (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417075 2500 220 1 190 25 55 170 - -
4
e
i
- o : b b
B i ] = Sl
i
- L -
1
power voltage L B H L3 . .
No. Part No. W) ) HC (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417150 2600 230 2 235 26 55 172 Vibiemme ELETRES2G2724

509



Heating elements_coffée machine heating

T

I
JH1
i ; | ]
a ¥
= L} m-] }e] = "\
J :
B
¥ - ST -
- L =
power voltage L B H L3 . .
No. Part No. ) HC (mm) (mm) (mm) (mm) suitable for equiv. no.
Brasilia 00614.2.00.02
1 417030 1800 230 2 177 26 53 74 Vibiemme ELETRES1G1822
2 417170 2000 230 3 150 39 56 55 Brasilia 08159.2.00.08
Brasilia 00615.2.00.08
3 417031 3000 230 3 327 28 52 240 Crem Int. 38027000
Expobar 38027000
4 417171 3500 230 2 330 30 55 258 Brasilia 01834.2.00.08
5 417095 3500 230 2 330 34 53 225 Brasilia 01834.2.00.08
6 417348 4000 230 2 330 28 55 235 Vibiemme ELETRES2G3522
Brasilia 00616.2.00.08
7 417446 4000 230 2 342 26 51 257 Expobar 38040000
Vibiemme ELETRES2G4023
8 417159 4000 400 2 492 26 72 397 Vibiemme -
9 417439 5000 230 2 445 25 51 335 Vibiemme ELETRES3G4522
10 | 417213 5000 230 2 485 25 53 385 - -
11 | 417172 5500 230 3 460 39 58 360 Brasilia 05391.2.00.08
L
H
PHE © - A0mm
F ™
L] - e - %,
A
B
L “Lamm
- L -
power voltage L B H L3 i :
No. Part No. W) ) HC (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417068 650 230 1 145 34 43 80 Marcfi-Ancas -
2 417069 1100 230 1 330 38 56 268 Marcfi-Ancas -
3 417133 1300 230 1 323 31 59 235 Pavoni -
4 417070 1350 230 1 334 38 30 270 Marcfi-Ancas -
5 417092 3000 230 2 358 41 50 287 Azkoyen -
6 417059 3000 230 3 223 30 67 128 Pavoni -
7 417093 4000 230 2 468 39 52 405 Azkoyen -
8 417060 4000 230 3 290 30 65 189 Pavoni -
3 hole flange g42mm
T
H
i A2mm
i
" LN,
] - L,
I SHmm
- L -
power voltage L B H . .
No. Part No. ) HC (mm) (mm) (mm) suitable for equiv. no.
Gaggia -
1 417120 1500 230 1 190 20 40 Italcrem -
Visacrem -

510




coffee machine heating

Heating elements

1 g
H § g Amm
T &
——a N
) Al
B "ﬁlmm‘
I
power voltage L B H . .
No. Part No. ) HC (mm) (mm) (mm) suitable for equiv. no.
1 417083 1500 230 1 165 25 29 Faema -
T .
H -z:'z 42mm
i -pal =
= L3 = L2 L=
L
& - .
] SBrmm
- L -
power voltage L B H (L% . .
No. Part No. ) (mm) HC (mm) (mm) (mm) suitable for equiv. no.
Gaggia -
1 417121 1000 230 406 1 39 40 316 Italcrem -
Visacrem -
Gaggia -
2 417123 1250 230 580 1 40 43 490 Italcrem -
Visacrem -
3 417151 1300 230 350 1 38 110 220 Gaggia -
4 417152 1900 230 590 1 37 112 480 Gaggia -
5 417153 1900 400 545 1 39 99 425 Gaggia -
Gaggia -
6 417124 2500 230 545 1 40 42 455 Italcrem -
Visacrem -
LI ] .
II:; C zz';'. 4Imim
oy 1 | -
U~ M
i,
. /
B (T __ L
& S6mm
- L -
power voltage L B H H2 L3 . .
No. Part No. ) (mm) HC (mm) (mm) (mm) (mm) suitable for equiv. no.
Gaggia -
1 417122 1500 230 400 1 42 44 35 315 Italcrem -
Visacrem -

511




Heating elements/coffée machineheating

3 hole flange g44mm

i
H1
Tha ¢ - Hmm,
]
= L3 ==l el
4
? h =gimm=
L. L -
power voltage L B H HD LTS TSe L3 . .
No. Part No. ) HC (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417181 2100 230 3 215 34 60 62 - - 110 Rancilio 33322022
2 417009 2100 230 3 220 29 50 62 - - 130 Rancilio 36322022
3 417010 2700 230 3 390 31 51 62 - - 295 Rancilio 36322027
4 417176 3000 230 3 215 42 50 62 - - 135 Rancilio 33322028
5 417343 3000 230 3 225 35 50 62 215 4 125 - -
6 417135 3900 230 3 391 35 51 63 - - 295 Rancilio 33322039
7 417178 4300 230 3 380 34 52 65 - - 280 Rancilio 33322040
8 417179 4300 230 3 400 34 51 62 202 5 298 Rancilio 33323430
3 hole flange g46mm
T
H | Simm
i - o=
e ey
& T -.-q -
- L -
power voltage L B H . .
No. Part No. ) HC (mm) (mm) (mm) suitable for equiv. no.
1 417449 2100 230 2 185 28 36 Reneka 9005365
2 417136 2100 230 3 172 35 34 Reneka -
3 417137 3100 230 3 230 37 42 Reneka -
4 417138 5500 230 3 463 36 34 Reneka -
45mm
1 ol
] iy
: 1@)
- L - __I I‘
BOmm
power voltage [’} ; ;
No. Part No. W) HC (mm) (mm) suitable for equiv. no.
1 417023 1750 230 1 123 41 San Marco -

512




coffee machine heating

Heating elements

i
ui = A5mm
IP12 ¢ - -
=31 iy
:ﬂ_ q ' Aoy
& - -
4 &lmm
L L -
1 2
power voltage HD L B H L3 . .
No. Part No. ) HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417450 3800 230 3 57 325 35 34 240 Reneka 9005367
2 417451 5500 230 3 57 550 35 34 465 Reneka 9005354
! M
':riz : - Bmm
n E R R S
T ke
B =H1mm-=
i
L. L -
power voltage HD L B H L3 TS @ LTS " .
No. Part No. ) HC (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417024 2600 230 2 60 375 30 56 285 - - San Marco OMM14138
2 417025 2600 230 3 62 380 35 58 290 7 208 San Marco 108143
3 417028 3000 230 3 62 341 33 46 291 7 186 San Marco 0796FS
4 417140 4000 220 2 61 555 26 59 470 - - San Marco -
5 417141 4500 400 3 60 578 34 62 490 - - San Marco 108141
3 hole flange g60mm
1 ¥
H1
M Cg Lo,
]
i—'-‘-l B -ru-. g
4 ' ==
? » =&4mm =
L. L |
power voltage L H L3 . .
No. Part No. ) HC (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417143 2500 230 2 373 38 48 278 Solenry -
2 417144 3000 230 2 470 40 52 394 Solenry -
3 hole flange
T -
H b
i
' e
E
. o
- L -
1
power voltage L B H . .
No. Part No. ) HC (mm) (mm) (mm) suitable for equiv. no.
1 417014 1300 230 1 185 40 18 Cimbali 442-501-005

513



B
i
- L -
power voltage L B H TS o LTS . .
No. Part No. ) HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Cimbali 421-601-010
1 417011 1800 230 3 170 34 35 7 170 Faema F421601010
2 417013 2850 230 3 320 27 35 - - Cimbali -
3 417012 3750 230 3 315 35 41 - - Cimbali -
4 417099 5790 230 3 577 35 34 7 170 Cimbali -
T
H
i A,
B
§ “6Imm
power voltage L H TSe LTS i P
No. Part No. ) HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 | 417036 2800 230 3 342 37 60 7.3 235 Carimali -
La Spaziale
2 417147 3800 230 3 550 38 65 7 245 La Spaziale -
T -
H o
i
—u—-uus A
L s
a’ o,
i
1
power voltage L B H L3 ! !
No. Part No. W) HC (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417066 1300 400 1 Italcrem -
4 hole flange
4
H SAmim
I ==
L =
B S
i s5mm
power voltage L B H TS o LTS . .
No. Part No. ) HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417015 2700 230 1 232 35 43 7 230/240 Cimbali -
2 417098 5000 220/380 3 355 33 33 6.5 230/240 Cimbali -
3 417212 5000 230 3 343 43 38 7 230/240 Cimbali -

514




coffee machine heating

Heating elements

H 7 aomm
2 - -
Li
B
. “aimm™
L -
power voltage L B H . .
No. Part No. ) HC (mm) (mm) (mm) suitable for equiv. no.
1 417349 2000 230 3 105 33 30 Gaggia -
2 417019 2000 230 3 139 30 30 Gaggia -
3 417231 2350 230 3 180 30 30 CMA 17007
4 417020 4000 230 3 318 32 30 Gaggia -
5 417119 5000 220 2 398 32 33 Gaggia -
6 417230 6000 230 3 575 33 33 CMA 17052
7 417234 6000 230 3 575 33 33 CMA 17102
1 57
H i
i
T
f “6Imm
- L -
power voltage L B H : ;
No. Part No. W) ) HC (mm) (mm) (mm) suitable for equiv. no.
1 417148 2500 230 3 243 29 63 Unic -
2 417149 4000 230 3 275 47 42 Unic -
P L
H1
g
= L3 =—LI=Li= .
.
[
[
- L -
power voltage mounting @ HD L H L3 . .
No. Part No. ) HC (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417084 2000 220 2 - 55 220 35 65 140 - -
2 417055 2000 230 2 - 54 215 38 58 175 Aurora 000644
3 417050 2000 230 2 42 40 165 34 52 103 Bezzera 5722220
4 417211 2000 230 2 42.5 40 167 33 52 107 Aurora -
5 417163 2300/2732 220/240 2 42 55 225 28 60 125 Bezzera 5722215
Aurora -
6 417056 2500 230 2 - 54 328 37 56 263 Bezzera 5722991
7 417051 3300 240 2 42 39 338 28 57 235 Bezzera 5722221
8 417091 4000 230 2 - 53 455 39 58 380 Aurora -
9 417094 5000 230 2 42 40 550 27 56 450 Bezzera 5722222

515




ELECTRICAL

Heating elements/cofiee machine heating

- L -
power voltage HD L B H L3 a B
No. Part No. ) HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417100 2800 230 3 66 245 43 71 180 Conti -
2 417101 5000 230 3 64 480 42 68 410 Conti -
6 hole flange
L *
= 7 2,
q (ﬁ“' “‘-q.)
v R
NG =
. f “s5mm
- L -
power voltage L B H q :
No. Part No. W) ) HC (mm) (mm) (mm) suitable for equiv. no.
1 417182 3400 230 3 340 39 24 Nuova Simonelli 14100004
Loovde A
o NWEE ¢ 3
] 1] ".a_ -V.-
- L - L
44mm
power voltage HD L ] A ;
No. Part No. ) HC (mm) (mm) (mm) suitable for equiv. no.
1 417168 1300 240 1 44 47 67 Bezzera 5722205
S4om,
- - - |
oy
¢Up
- -
power voltage L B H L3 ! i
No. Part No. ) HC (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417052 1800 230 2 180 31 46 120 Nuova Simonelli 14100024
ﬂ 2 417183 2700 230 3 178 35 51 63 Nuova Simonelli 14100027
=
(&) 3 417131 2700 230 3 182 32 52 120 Nuova Simonelli 14100027
g 4 417053 3000 230 3 330 38 55 237 Nuova Simonelli 14100011
g 5 417184 4500 230 2 335 37 51 255 Nuova Simonelli 14100031
=
I
[}
I

516




coffee machine heating

Heating elements

*
H AQHTaT
i =
T
B
i
L L -
power voltage L B H . .
No. Part No. ) HC (mm) (mm) (mm) suitable for equiv. no.
1 417021 1500 230 3 145 34 30 Gaggia -
2 417022 2000 220 3 228 36 34 Gaggia -
8 hole flange
L - 54
H o gl
i S,
[t |
1, L ]
s o
- L -
No. Part No. powey voltage HC (mLm) (mBm) (mHm) suitable for equiv. no.
1 417130 5000 230 3 522 27 38 Nuova Simonelli 14100012
with compression flange
P
H1
] M
Y M2
(]
=-—a
power voltage '] flange H H1 H2 . .
No. Part No. ) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1| 417162 800 230 40 11.5x27 55 25 30 Aé:\‘/l’xa 5281
2 417454 2000 230 93 50x26 63 29 34 Melitta 15633
i
@
L]
T
- M
i
power voltage o H flange : .
No. Part No. ) (mm) (mm) (mm) suitable for equiv. no.
1 417329 1250 240 120 36 50x26 Bonamat 6.236.098.000
2 417326 2160 230 125 35 50x26 Bonamat 6.236.011.000

517




12

Heating elements

Heating elements/cofiee machine heating

ELECTRICAL

& '
LAt N Y, i
L \_'_ :-l B2
- o [
L] e LY -
- L -
power voltage flange L B L2 A . q
No. Part No. ) (mm) (mm) (mm) (mm) windings suitable for equiv. no.
1 415547 2280 220 50x26 310 140 100 3 Melitta -
2 415548 2660 220 50x26 370 173 150 4 Melitta -
with screw flange
3/8"
' ol
- a =
#ﬂ'—-—h_ - — |_1_
- L -
1
power voltage g . .
No. Part No. ) (mm) (mm) suitable for equiv. no.
1 417194 600 230 74 10 Nuova Simonelli 14100037
%H
- (]
H1
1 H
C 5 OH2
= 3 N
- [+ ] -
power voltage ] H H2 ’ ; power voltage 2 H H2 . .
No. Part No. ) (mm) (mm) (mm) suitable for equiv. no. No. Part No. ) (mm) (mm) (mm) suitable for equiv. no.
1 417302 1600 230 127 100 40 Animo 03133 3 417304 2400 220 130 100 32 Animo 03196
2 417303 2100 230 128 100 40 Animo 03115
power voltage L B H . . power voltage L B H . .
No. Part No. ) (mm) (mm) (mm) suitable for equiv. no. No. Part No. ) (mm) (mm) (mm) suitable for equiv. no.
1 415778 3000 230 160 140 26 Melitta 212113 2 417315 3200 230 137 122 26 Animo 03022

518




lu

coffee machine heating

Heating elements

i =&
di‘ ) i "
L =
h |
No. Part No. p?\x/l;a r vog/z;ge HC (mLm) (mBm) (mHm) gn?n?) (h;rnf) suitable for equiv. no.
1 415216 1200 220 1 165 22 20 - - - -
2 417195 1200 230 1 155 22 22 - - Nuova Simonelli 14100040
3 417220 1250 220 1 160 21 22 - - Bezzera 5722240
4 | 417049 1350 220 1 163 24 25 8 135 Bezzera 5722208
5 | 417081 | 1350 230 1 140 22 23 - - Vﬁ;ﬂ:ﬁe ELET%lSS“D 1499
6 | 417190 1800 220 1 175 20 28 7 180 Nuova Simonelli 14100029
7 415202 2000 230 1 170 22 23 - - - -
1 -
—_— . |
- L -
1
No. Part No. powe poltagy HC (mﬂm) (mLm) cab:::‘nlrtra]r)lgth suitable for equiv. no.
1 417191 230 1 20 185 55 Nuova Simonelli 14100038
1Y
v -
", | LJ:
" i
= il
- L .
No. Part No. powey Vel HC (mLm) (mBm) (mHm) (Tmsn% (;Tnﬁ) suitable for equiv. no.
Astoria 17201
1 | 417089 1300 230 1 105 26 25 - - CMA 17201
Wega W17201
2 | 417006 1300 230 1 106 27 27 - - Wega WY 17201
3 | 417459 1300 240 1 107 26 26 - - Wega WY 17202
4 417127 1400 230 1 395 32 - - - Marzocco LR365/220
5 417347 1500 220 1 140 27 25 - - Vibiemme ELETRESSM1822
6 417057 1500 230 2 145 23 37 - - Gaggia -
7 | 417452 1600 230 1 160 32 23 6.6 140 Carimali -
8 417129 1600 230 1 660 34 - - - Marzocco LR362/220
9 417173 1700 230 3 135 26 29 - - Brasilia 02286.2.00.08
Carimali -
10 | 417045 1800 230 1 135 36 39 - - Marzocco LR340/220B
Pavoni -
11 | 415006 1880 230 1 147 35 26 - - - -
12 | 417125 2000 220 2 285 27 29 - - Marzocco LR342/220B
13 | 417032 2000 230 1 170 35 33 - - Brasilia 00613.2.00.08
14 | 417046 2000 230 1 200 32 26 6.5 152 Carimali 95.00985

519




B g
- L -
No. Part No. powey vo(l%ge HC (mLm) (mBm) (mHm) (Trr?n?) (Ir_nTrﬁ) suitable for equiv. no.
15 | 417145 2000 230 1 328 25 37 - - Solenry -
16 | 417080 2400 220 1 225 24 38 - - Brasilia 01378
17 | 417196 2400 220 2 230 33 23 - - Brasilia 00627.2.00.08
18 | 417048 2400 230 2 252 27 24 - - Carimali -
19 | 417058 2500 230 2 330 38 22 - - Aurora -
20 | 417146 2500 230 3 385 20 38 - - Solenry -
21 | 417062 3000 230 3 238 32 26 - - Pavoni -
22 | 417047 3000 230 3 405 29 29 6.5 195 Carimali 95.01348.10
23 | 417128 4000 220 1 495 35 28 - - Marzocco LR356/220B
24 | 417063 4500 230 3 280 37 28 - - Carimali 95.01202
25 | 417345 5000 230 3 575 34 30 6.5 200 Carimali 95.01202
L] al
O~
¥ L 5 o
No. Part No. pt()\)ivv)er vo(l{gge HC (mLm) (mam) (Tn?n?) (Hrﬁ) suitable for equiv. no.
1 | 417228 2600 230 1 155 35 8 150 Nuova Simonelli 14100050
15"
v =1
: i
e L -
v il
: !l
No. Part No. pt(w)er volotgge HC (mLm) (mE:n) (mHm) (T"?”/]a) (Hrﬁ) suitable for equiv. no.
1 417306 3000 230 3 180 33 35 8.8 190 Animo 03027A
2 417300 4500 220 3 280 32 40 9 300 Animo 03028
3 417310 6000 230 3 285 37 33 9 270 Animo 03118

520



T
H BB e
i
No. Part No. BOvel vo(l{?)ge (mLm) (mBm) (mHm) tzjn?re}]? TS suitable for equiv. no.
1 418392 250 230 185 50 25 8.5 M14x1.5 - -
2 418393 500 230 305 50 25 8.5 M14x1.5 Morice RS0880
3 418394 750 230 410 50 25 8.5 M14x1.5 - -
4 418398 1000 230 290 80 40 12 M24x1.5mm - -
Comenda 110704
5 418823 1000 230 405 50 25 8.5 M14x1.5 Hoonved H110704
Lamber 0303100
6 418395 1000 230 505 50 25 8.5 M14x1.5 Morice RS0881
7 418593 1200 230 305 50 25 8.5 M12x1 SSP 0617303100
8 418399 1500 230 440 80 40 12 M24x1.5mm - -
Comenda 110706
9 418824 1500 230 475 50 25 8.5 M14x1.5 Hoonved H110706
10 | 418396 1500 230 748 50 25 8.5 M14x1.5 Morice RS0892
11 | 418400 1750 230 515 80 40 10 M24x1.5mm - -
12 | 418401 2000 230 590 80 40 10 M24x1.5mm - -
13 | 418397 2000 230 994 50 25 85 M14x1.5 - -
No. Part No. p?\VNV;E' voftage (mLm) (mBm) (mHm) suitable for equiv. no.
1 418719 1000 230 180 80 84 Hatco X02.05.620.00
contact heaters
No. Part No. powey vogla)ge HC (mLm) (mBm) (mHm) tE:Elenf suitable for equiv. no.
1 490038 1500 220 - - - - - EGO 10.34560.000
2 490007 2000 220 2 210 205 20 5 EGO 10.38420.000

524




convection heating elements

Heating elements

H1

M2

No. | paho. | PG | | o | G | om) | om | @om | om) | om | om) | om suiable for LR
1 | 418042 | 1200 230 180 | 194 | 245 | 34 44 15 70 22 56 Tecnoeka 01951147000
2 | 416770 | 1500 230 175 | 188 | 256 | 25 60 5 47 17 36 Roller-Gril D02144
Dexion 3710004
3 | 418345 | 1600 230 178 | 191 | 250 | 40 50 16 70 22 56 Emainox 3710004
MBM lItalien RTBF900218
4 | 415119 | 1600 230 179 | 197 | 254 | 30 51 9 70 22 56 EZ'Z‘;tL‘;'S“IX 82585
5 | 418043 | 1600 230 180 | 192 | 245 | 25 45 12 70 22 56 Tecnoeka 09950987000
6 | 416976 | 1800 230 167 | 182 | 220 | 29 32 12 70 22 56 Arl‘z’g%Ch 2??8332%1120
7 | 416030 | 1900 230 175 | 192 | 255 | 42 47 16 70 22 56 Dexion 011482-01-R
8 | 415777 | 2000 230 178 | 190 | 245 | 32 50 3 70 22 56 Lotus 537006500
9 | 416118 | 2000 230 180 | 192 | 245 | 34 45 10 70 22 56 Gico 284203511
10 | 416119 | 2000 240 182 | 195 | 245 | 34 43 10 70 22 56 Gico 238200212
11 | 418601 | 2200 220 179 | 192 - 39 46 10 70 22 56 Angelo-Po 32G0550
12 | 416788 | 2400 230 175 | 193 | 245 | 35 45 33 70 22 56 Olis A037600
13 | 415139 | 2400 230 184 | 199 | 257 | 28 58 9 70 22 56 EGO 20.23077.000
14 | 416988 | 2400 230 186 | 192 | 255 | 26 56 | 75 | 46 - 36 EGO 20.29477.000
15 | 416405 2400 230 190 204 216 30 5 10 70 22 56 Imperial - Germany 8346760
16 | 416852 | 2500 220 183 | 195 | 240 | 26 45 6 70 22 56 Bagssclhe' 03300000088;16611
17 | 415117 | 2500 230 175 | 195 | 245 | 55 50 25 70 22 56 EZ'Z‘;tL‘;':iX 823?1?
18 | 416730 | 2500 230 177 | 189 | 253 | 53 58 28 47 17 36 Roller-Gril D02143
Bertos 22015500
Giga 50039
19 | 415251 | 2500 230 178 | 190 | 242 | 30 46 5 70 22 56 Msalrlsgo 10031703105%2400
Starl0 X68002
Tecnoinox 00568
20 | 415138 | 2500 230 179 | 192 | 250 | 22 50 6 70 22 56 EGO 20.21693.000
21 | 415127 | 2500 230 179 | 194 | 243 | 31 45 u 70 22 60 Zanussi -
22 | 415132 | 2500 230 180 | 192 | 234 | 35 42 12 70 22 56 EGO 24.33190.010
23 | 418044 | 2500 230 180 | 192 | 245 | 28 45 3 70 22 56 Tecnoeka 09950977000
24 | 415134 | 2500 230 180 | 193 | 245 | 28 54 18 70 22 55 ng’gt zo_fgggg_lom
25 | 415135 | 2500 230 183 | 195 | 255 | 20 55 2 47 17 36 EGO 20.17983.000
26 | 415137 | 2800 230 177 | 190 | 235 | 28 45 6 81 23 60 EGO 20.21403.000
27 | 416031 | 2800 230 187 | 200 | 250 | 39 46 12 70 22 56 Dexion 011482-00-R
28 | 416120 | 2800 240 185 | 198 | 245 | 34 42 12 70 22 56 Gico 284201560
EGO 20.30404.000
29 | 418083 | 3000 230 179 | 190 | 245 | 35 45 10 70 22 56 Electrolux 054980
Zanussi 054980
30 | 415126 | 3200 230 180 | 195 | 244 | 30 49 7 70 22 56 EGO 20.19279.020

527



power voltage int. @ ext. g L H L1 H1 FL FW HD . .
No. Part No. ) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415128 1250 230 198 210 228 30 12 10 70 22 56 - -
Bartscher 030008381
2 416850 1260 230 182 194 252 30 48 10 70 22 56 RSI 30008381
3 416784 1300 230 178 194 245 25 51 6 70 22 56 Olis A037650
4 418240 1300 230 194 207 217 28 10 10 70 22 56 Roka 8900327
Modular M563000900
5 418317 1450 240 178 189 210 30 12 25 70 22 56 Multinox 563000900
6 418274 1500 230 189 202 225 31 15 20 70 22 56 Hupfer 014001107
7 418584 1550 230 180 192 210 28 12 11 70 22 28 Smeg 806890593
8 418536 1550 230 188 195 215 32 15 9 100 22 83 Smeg 693490094
Bartscher A030008458
9 416851 1600 230 183 195 250 51 47 15 70 22 56 RS| 30008458
Electrolux 0700214759E
Juno 0H6212
10 | 415123 1750 220 186 199 222 29 14 9 70 22 56 Mobile Containing 957226
Zanussi 0H6212
Blanco 00105672
11 415893 1800 230 190 204 216 25 7 10 70 22 56 EGO 20.28907.000
12 | 418133 | 2000 220 187 | 200 | 215 | 25 15 5 100 | 22 86 Bertos 23019200
Foinox 0022
13 418535 2000 230 180 192 210 24 13 6 70 22 28 Smeg 806890397
14 | 418275 2000 230 194 207 220 32 5 10 70 22 56 Hupfer 014041047-03
EGO 20.21834.010
15 | 418468 2100 230 192 203 215 32 8 12 70 22 56 Electrolux 0H6210
Juno 0H6210
16 | 418045 2200 230 175 187 246 25 58 7 70 22 56 Tecnoeka 01950137000
17 | 418146 2200 230 180 195 210 36 10 8 70 22 56 MBM ltalien RTCU700451
18 | 416532 2300 230 183 197 212 30 15 5 70 22 56 Modular 66506100
19 | 415124 2300 230 183 198 215 28 11 15 70 22 56 Saro 20-2057
20 | 415136 2300 230 188 202 232 25 50 12 70 22 56 EGO 20.19121.000
21 | 418861 2400 220 175 190 210 35 10 5 100 22 86 Emmepi 828041
22 | 418887 2400 240 179 192 227 33 10 5 100 22 86 SSP 0617301601
23 | 415120 2450 230 192 204 225 30 12 10 70 22 56 EGO 20.19579.050
Electrolux 004934
Mareno 1037300200
MBM ltalien RIC0001835
24 | 415966 2500 230 176 188 210 28 22 3 70 22 56 Modular M563000800
Multinox 563000800
Tecnoinox 00568
Zanussi 004934
Piron RES30003
25 | 418267 2500 230 181 193 208 30 10 6 70 22 56 Star10 071041
Bertos 22015500
26 | 416040 2500 230 185 198 212 30 17 6 70 22 56 Giga X68002
27 | 418689 2500 230 185 200 217 19 22 28 70 22 56 - -
Electrolux 031485
28 415118 2500 230 186 200 221 28 15 11 100 22 86 Zanussi 031483
29 | 416412 2500 230 188 200 215 30 3 5 100 22 86 Foinox 0159
30 | 418417 2580 230 - - - - - - - - - CB 07030065
31 416842 2600 230 177 194 212 28 18 5 70 22 55 MBM ltalien RTCU700650
32 | 418571 2600 230 180 192 212 34 10 10 100 22 86 Smeg 806890378
EGO 20.20219.050
33 | 415116 2600 230 190 210 220 28 10 5 70 22 56 Electrolux 0H6157
Juno 0H6157
34 | 418509 2660 230 212 224 245 34 14 6 100 23 86 Smeg 64102
35 | 418507 2700 230 180 195 210 30 10 11 70 22 26 Smeg 46286
36 | 418508 2700 230 181 194 208 30 10 10 70 22 56 Smeg 40656

528




	
	Ceramic heaters
	Coffee machine heating elements
	Coil heating 
elements
	Contact heaters
	Convection heating elements
	Dry heating 
elements
	Foil heating elements
	Fryer heating elements
	Chargrill heating elements
	Grooved tubular heating elements
	Heating cables
	Heating cartridges
	Contact grill heating elements
	Gyro grill heating elements
	
	Heating rods



